B to B ratio results

pr(B) > 4 GeV/c

pr(B) > 6 GeV/c

N(Bf — J/¢+ put + v), data

117.6417.2(st) T 3-3(sys)

107.14:16.7(st) & (sys)

N(BY — J/¢ + K™), data

2333£55(st)

22991-53(st)

€rel

5.8670.068(st) T 520 (sy5)=£0.720(sp)

4.87340.060(st) T0 522 (sy5)4-0.298(sp)

o(BI)*BR(BI —J/¢y+ut+v)
o(BH)*BR(BT = J/J)+KT)

0.295+0.040(st) T 5 3o (sys)£0.036(sp)

0.227+0.033(st) T 5 02 7(sys)£0.014(sp)

Note for first line: “sys” stands for B, backgrounds systematical uncertainties.

Note for line €,..;: “sys” stands for B, lifetime® BT @XFT uncertainties added in quadrature, “sp” stands for B,. spectrum

uncertainties.

Note for last line: “sys” stands for backgrounds®lifetime® B T@GXFT uncertainties added in quadrature, “sp” stands for B

spectrum uncertainties.




